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Delta (1-4 Hz) band; Main effect of REGION
Current effect: F(6, 216)=19.1, G-G Epsilon=0.55, p<0.0001
Whiskers denote standard errors of the mean
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Alpha (7-12 Hz); Main effect of REGION

Current effect: F(6, 216)=14.3, G-G Epsilon=0.49, p<.0001
Whiskers denote standard errors of the mean
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Beta1 (12-16 Hz); Main effect of REGION

Current effect: F(6, 216)=15.4, G-G Epsilon=0.66, p<0.0001
Whiskers denote standard errors of the mean
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Alpha (7-12 Hz); Main effect of anxiety
Current effect: F(1, 36)=11.26, p=0.0019
Whiskers denote standard errors of the mean
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Beta1 (12-16 Hz); Main effect of Anxiety
Current effect: F(1, 36)=5.00, p=0.0317
Whiskers denote standard errors of the mean
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Beta2 (16-20 Hz); Main effect of Anxiety
Current effect: F(1, 36)=6.74, p=0.0136
Whiskers denote standard error of the mean
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Delta (1-4 Hz) band; Interaction Gender* Anxiety
Current effect: F(1, 36)=4.17, p=0.0485
Whiskers denote standard errors of the mean
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Alpha (7-12 Hz); Interaction Gender* Anxiety
Current effect: F(1, 36)=5.04, p=0.031
Whiskers denote standard errors of the mean
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Beta1 (12-16 Hz); Interaction Gender* Anxiety
Current effect: F(1, 36)=11.14, p=0.00197
Vertical bars denote 0.95 confidence intervals
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Dipole location

Cls 2 scalp map, 39 Ss

Mean ERSP for all group/cond Spectral power eyes closed eyes opened
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Dipole location

Cls 3 scalp map, 38 Ss
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